Homework 7
SNU 4190.310, 2025 &
Kwangkeun Yi
Due: 5/30(Fri), 24:00
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e: Int
e: (Int — Result) — Result
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id identifier
fn id => ¢ function

rec id id => e recursive function
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| ee application

| ifpeee branch on positive

| e+e addition

| (e,e) pair

| e.1 first component

| e.2 second component
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run(e) = run(e(fn v => v))
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type nexp = Num of int

Var of string

Fn of string * nexp

Fnr of string * string * nexp
App of nexp * nexp

Ifp of nexp * nexp * nexp

Add of nexp * nexp



| Pair of nexp * nexp
| Fst of nexp
| Snd of nexp
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type xexp = Num of int
| Var of string

| Fn of string * xexp



Fnr of string * string * xexp
App of xexp * xexp
Ifp of xexp * Xexp * xexp

Add of xexp * xexp

Fst of xexp
Snd of xexp
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| Pair of xexp * xexp
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| Raise of xexp
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Handle of xexp * string * xexp
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